#7|B1th 7 ot B & (1 KHT )

FERHE (F) FERIHE (18) HE
P K HET 9-2 =1 9-2
=l 10-2 SEME
= 18-2 BEME
=il 18-17 BEME
= 19-2 EEME
= 22-25 55T
= 22-26 BEME
P A HT 10-3 E=10 10-3
= 10-6 BEME
=l 10-7 SEME
= 20-4 BEME
= 22-20 55T
= 22-21 BEME
= 22-27 55T
= 22-28 EEME
P A HT 18-3 = 18-3
B K HT 18-14 (=i 18-14
P A HT 18-15 =1 18-15
B K HT 18-19 FRF
P A HT 19-3 = 19-3
B K HT 20-1 (=i 20-1
P AR HT 20-2 = 20-2
= 22-18 BEME
P A HT 20-3 =1 20-3
P KHT 20-5 =1 20-5
= 20-6 BEME
= 20-7 BEME
=11 21-14 BEME
B KHT 20-8 iR s
B AR HT 20-9 iR %
B KHT 20-10 iR s
Pz A HT 20-11 iR
B KHT 20-12 iR %
Pz A HT 21-15 =W 21-2 DEMF
B KHT 21-16 = 21-2 NEME
FAHT 22-24 = 29-94
P AR HT 22-29 Il 29-15 SNEE
F K HT 40-1 =1 40—1
P A ET 40-13 =1 40-13
Pz A HT 40-14 = 40-14
e KHT 40-18 =1 40-18
F=A10 40-19 BEME
=1l 40-20 BEME
F=A10 40-29 BEME
=1l 41-18 BEME
Pz A HT 40-21 =1 40-21
P AHET 40-22 =1l 40-22
F=A10 40-23 BEME
=il 40-26 BEME
= 40-27 BEME
B K HT 40-31 iR &
B ARHT 40-32 iR




#7|B1th 7 ot B & (1 KHT )

HERHE (F) FERIHE (18) HZ
B ARHT 40-33 iR E
P A ET 40-34 iR %
P K HET 41-2 =1 41-2
=l 41-3 SEME
P KHT 41-10 =1 41-10
=il 41-23 BEME
= 41-24 BEME
=il 41-25 BEME
B K HT 41-15 (=i 41-15
FRAHT 41-22 =1 41-22
P K HT 43-2 = 43-2
=il 43-20 BEME
= 43-21 BEME
FRAHT 43-3 =1 43-3
P K HT 43-6 =T 43-5 SEMF
= 43-6
B K HT 43-7 =W 43-7
P AR HT 43-8 = 43-8
= 45-47 BEME
P A HT 43-9 = 43-9
B K HT 43-10 (=i 43-10
P AR HT 43-16 = 43-16
= 43-17 BEME
= 45-2 BEmE
= 45-6 BEME
F=A10 45-44 BEME
= 45-48 BEME
= 47-5 SEME
B KHT 43-22 = 43-6 NEME
Pz A HT 43-23 =W 43-8 HDEME
B KHT 43-24 = 43-10 NEME
FRAHT 44-2 = 44-9
P KHT 44-3 =1 44-3
= 44-6 SEME
= 44-13 BEME
=11 44-16 BEME
P KHT 44-4 =1 44-4
= 45-51 BEHE
P K ET 44-7 = 43-18 BEME
= 44-7
=1l 44-24 SEME
F K HT 44-9 =1 44—9
P A ET 44-10 =1 44-10
Pz A HT 44-11 =1 44-11
P KHT 44-12 = 44-12
=11 44-18 BEME
=1l 44-19 SEME
Pz A HT 44-17 =1 44-17
P KHT 44-20 =11 44-20
= 44-28 BEME
PR AHT 44-21 =1 44-21
P A ET 44-23 = 44-23




#7|B1th 7 ot B & (1 KHT )

HERHE (F) FERIHE (18) HZ
P A ET 44-25 = 44-25
P KHT 44-26 =11 44-96
= 45-1 BEME
P K ET 44-27 =1 44-27
= 44-29 EEME
P A HT 45-4 =1 45-4
= 45-5 BEME
=l 45-8 BEME
= 46-3 BEME
=l 46-4 SEME
= 47-3 BEME
=l 47-4 SEME
= 103 EEME
FRAHT 45-9 =1 45-9
B KHT 45-10 (=i 45-10
FRAHT 45-11 =0 45-11
P KHT 45-12 =1 45-12
F=A10 45-16 BEME
B K HT 45-13 (=i 45-13
P AR HT 45-14 = 45-14
= 102 BEME
P AR HT 45-15 = 45-15
= 101 BEME
P A HT 45-19 =1 45-19
B K HT 45-20 (=i 45-20
FRAHT 45-21 =0 45-21
P A BT 45-22 = 45-22
P AR HET 45-24 = 45-24
= 45-42 BEME
= 45-50 BEME
= 100 BEME
FRAHT 45-27 =0 45-27
P KHT 45-28 =1 45-28
= 45-33 BEE
P A ET 45-29 = 45-29
Pz A HT 45-31 S 45-31
P A ET 45-32 = 45-32
Pz A HT 45-34 = 45-34
P A ET 45-35 = 45-35
P K HET 45-36 = 45-36
=il 45-46 BEME
Pz A HT 45-39 = 45-39
B KHT 45-40 =il 45-40
Pz A HT 45-43 =1 45-43
B KHT 45-54 = 45-9 NEME
Pz A HT 45-55 = 45-27 NEME
B KHT 45-56 = 45-29 SEHh T
Pz A HT 45-57 = 45-40 NEME
P A ET 45-58 = 45-43 NEME
P A ET 96-3 = 96-3
B K HT 96-5 iR &
B K HT 96-6 iR %




#7|B1th 7 ot B & (1 KHT )

REZHE B FERTHE (1H) HZ
P K HT 196-1 e 3= 196-1
&H 196-5 BEME
P K HET 196-2 =H 196-2
&H 196-4 BEME
&H 197-2 EEME
P A HT 197-1 E=3=| 196-3 BEME
&H 197-1
Fie AR HT 198 &H 198
B K HT 199 &H 199
Fie AR HT 200 &H 200
Pz K ET 201 &H 201




